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PAPER CODE : TNTET-1

Total question : 150			   Time Period : 90 minutes   	     Maximum Marks : 150

Part Contents No. of  
Questons

I Child Development and Pedagogy 30 1 30 3 12
II Language I (Only One Language)

As selected by the candidate as medium of 
instruction in the Application form from the 
Language given below:

30 31 60

Tamil 30 31 60 13 16
Telugu 30 31 60 17 20

Malayalam 30 31 60 21 26
Kannada 30 31 60 27 30

Urdu 30 31 60 31 34
I I I Language II - English 30 61 90 35 40
IV Mathematics 30 91 120 41 52
V EVS 30 120 150 53 64

Question Nos.
From FromTo To

Page Nos.

Read the instructions in English  & Tamil at Page No. 32, Last page of this booklet.
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ð°F&I

PART&I

°ö‰¬î «ñ‹ð£´ ñŸÁ‹ èŸHˆî™

CHILD DEVELOPMENT AND PEDAGOGY

There are 30 questions in all in this part. All questions are compulsary
ÞŠð°FJ™ 30 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

1. 	 èŸø¬ô «ñ‹ð´ˆ¶‹ ºî™ îèõ™ ªî£ì˜¹ ê£îù‹

	 (Ü) ªî£¬ô‚è£†C				    (Ý) ªêŒFˆî£œ

	 (Þ) õ£ªù£L				    (ß)  Þ¬íò‹

 	 The first mass medium in learning is 

	 (a) Television 					    (b) Newspaper

	 (c) Radio					     (d) Internet 

		

2. 	 “º¡«ùŸøŠ ðœOèœ” âÂ‹ ñ£FKŠ ðœOèÀ‚° MˆF†ìõ˜

	 (Ü) Ï«ú£					     (Ý) ÇJ

	 (Þ) ã.âv.c™				    (ß)  Þóvú™

	 ‘Progressive Schools’ were initiated by

	 (a) Rousseau					     (b) Dewey

	 (c) A.S. Nell					     (d) Russell 

	

3. 	 ................ ñ£Ÿøˆ¬î èŸø™ ãŸð´ˆ¶Aø¶

	 (Ü) ïìˆ¬î					    (Ý) ÜPõ£Ÿø™

	 (Þ) àœÀí˜¾				    (ß)  ñùŠð£¡¬ñ

	 Learning results out of _______ modification 

	 (a) behavior 					     (b) knowledge

	 (c) emotional					     (d) attitude

4. 	 ñù«ï£¬ò UŠù£®ê‹ Íô‹ °íŠð´ˆîô£‹ â¡øõ˜

	 (Ü) ªüó£™´				    (Ý) ªèô¡ ªè™ô˜

	 (Þ) çŠó£Œ´				    (ß)  ÎT¡ ê£¡ì£š

	 Curing mental illness by Hypnotic method was adopted by

	 (a) Geraid					     (b) Helen Keller

	 (c) Freud					     (d) Eugene Sandow
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5. 	 Å›G¬ô (Environment) ðŸP Ýó£Œ‰î ÝŒõ£÷˜ (Psychologist)

	 (Ü) è£™ì¡					    (Ý) Hò˜ê¡

	 (Þ) ªè™ô£‚				    (ß)  ì£™M¡

	 The psychologist who researched about ‘Environment’ was

	 (a) Galton					     (b) Pearson

	 (c) Kellog					     (d) Dalvin 

6. 	 è™ÖK ÝCKò˜èÀ‚° ¹ˆî£‚èŠ ðJŸC ÜO‚è «õ‡´‹ â¡Á â‰î Ý‡®™ ¹Fò «îCò 
ªè£œ¬è ðK‰¶¬ó ªêŒî¶?

	 (Ü) 1960					     (Ý) 1986

	 (Þ) 1988					     (ß)  1975

	 In which year the New National Policy of Education recommended refresher courses for college 
teachers?

	 (a) 1960					     (b) 1986

	 (c) 1988					     (d) 1975

7. 	 Þ‰Fò ÜóCòô¬ñŠ¹ ê†ìˆF¡ 45õ¶ HK¾ ............. Ý‡¬ì â™ô£ °ö‰¬îèÀ‚°‹ 
è†ì£ò ªî£ì‚è‚ è™M¬ò õöƒ°‹ è£ôñ£è G˜íJˆî¶

	 (Ü) 1952					     (Ý) 1955

	 (Þ) 1960					     (ß)  1965

	 Article 45 of the Constitution has fixed the year _____ as the period by which compulsory primary 
education would be provided for all children

	 (a) 1952					     (b) 1955

	 (c) 1960					     (d) 1965

8. 	 ºF«ò£˜ è™M â¡ð¶, º¬ø ê£ó£‚ è™M Ü¬ñŠH¡ Íô‹ ........... õò¶‚° «ñŸð†ì õò¶ 
õ‰«î£¼‚è£ù è™Mò£°‹

	 (Ü) 16					     (Ý) 18

	 (Þ) 14					     (ß)  15

	 Adult Education refers to the education of adults who are over ____ years of age, through non-formal 
methods.

	 (a) 16						      (b) 18

	 (c) 14						      (d) 15	
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9. 	 ñîóê£ â¡ð¶

	 (Ü) APv¶õ ðœO				   (Ý) ºvh‹ ðœO

	 (Þ) «õî ð£ìê£¬ô				   (ß)  Þ‰¶ ðœO

	 Madras is a 

	 (a) Christian School				    (b) Muslim School

	 (c) Vedic School				    (d) Hindu School

10. 	 “A Week with Gandhi” â¡ø ¹ˆîèˆ¬î â¿Fòõ˜

	 (Ü) ÖJv dû˜				    (Ý) üõý˜ô£™ «ï¼

	 (Þ) «ü.«è. è£™HªóŒˆ			   (ß)  ê«ó£TQ ï£»´

	 The book ‘A week with Gandhi’ was written by 

	 (a) Louis Fischer				    (b) Jawaharlal Nehru

	 (c) J.K. Galbraith				    (d) Sarojini Naidu

11. 	 «îCò è™M °¿M¡ (1964-66) î¬ôõó£è Þ¼‰îõ˜

	 (Ü) ì£‚ì˜ ®.âv. «è£ˆî£K			  (Ý) ì£‚ì˜ ã.â™. ºîLò£˜

	 (Þ) ì£‚ì˜ «ü.H. ï£ò‚			   (ß)  ì£‚ì˜ âv. Þó£î£A¼wí¡

	 The Chairman of the Indian Education Commission (1964-66) was

	 (a) Dr. D.S. Kothari				    (b) Dr. A.L. Mudaliar 

	 (c) Dr. J.P. Naik				    (d) Dr. S. Radhakrishnan 	

12. 	 Mvõð£óF ï¬ìº¬ø‚° õ‰î Ý‡´

	 (Ü) 1901					     (Ý) 1921

	 (Þ) 1911					     (ß)  1919

	 Viswabharati came into existence in 

	 (a) 1901					     (b) 1921

	 (c) 1911					     (d) 1919

13. 	 Þõ£¡ ð£™õ£š ÜQ„¬ê„ ªêò™

	 (Ü) á‚è‹					     (Ý) ñ£Áî½‚°œ÷£ù ÜQ„¬ê„ ªêò™

	 (Þ) ÜP¾ˆFø¡				    (ß)  ÝÀ¬ñ

	  Ivan Pavlov studied

	 (a) motivation					    (b) conditioned reflexes

	 (c) intelligence				    (d) personality 
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14.	  p¡ H«ò£«üM¡ ªú¡úK «ñ£†ì˜ G¬ô‚ è£ô‹ MóMJ¼Šð¶

	 (Ü) 0 ºî™ 2 Ý‡´èœ			   (Ý) 7 Ý‡´èœ ºî™ 11 Ý‡´èœ õ¬ó

	 (Þ) 11 Ý‡´èœ ñŸÁ‹ ÜîŸ° «ñ™	 (ß)  2 Ý‡´èœ ºî™ 7 Ý‡´èœ õ¬ó

	 Jean Piaget’s sensory motor stage period ranges from 

	 (a) 0 to 2 years					    (b) 7 years to 11 years

	 (c) 11 years to above				    (d) 2 years to 7 years 

15. 	 ð¡ù£†´ è™MòP¾ Fù‹ ªè£‡ìŠð´‹ ï£œ

	 (Ü) ü¨¡ 10				    (Ý) HŠóõK 8

	 (Þ) ªêŠì‹ð˜ 8				    (ß)  ãŠó™ 6

	 International Literacy Day is celebrated on 

	 (a) 10th June					     (b) 8th February

	 (c) 8th September				    (d) 8th September

16. 	 è¼‹ðô¬èˆ F†ì‹ â¡ðî¡ ªð£¼œ

	 (Ü) Ýó‹ðŠ ðœOJ¡ Ü®Šð¬ìˆ «î¬õè¬÷ º¡«ùŸÁõ¶

	 (Ý) è¼‹ðô¬è¬ò å¼ õ°ŠHL¼‰¶ ñŸªø£¡Á ñ£ŸÁõ¶

	 (Þ) èŸHˆî™ àðèóíñ£è è¼‹ðô¬è ðò¡ð´ˆ¶‹ Fø¬ù õ÷˜ˆî™

	 (ß) Þø‚°ñF ªêŒòŠð†ì è¼‹ðô¬èè¬÷ ðœOèÀ‚° õöƒ°õ¶

	 ‘Operation Blackboard’ means

	 (a) improving the infrastructural facilities in the primary schools			

	 (b) blackboards which are transferred from class to class

	 (c) improving the skills in using blackboard as instructional aids				  

	 (d) providing imported blackboards to schools

17. 	 L‚è˜† º¬ø Ü÷¬õ ªð¼‹ð£½‹ Ü÷Mì ðò¡ð´ˆ¶õ¶

	 (Ü) ñùŠð£¡¬ñ				    (Ý) ̧ ‡íP¾

	 (Þ) ÜP¾¬ó ðè˜î™			   (ß)  ¹ô¡ è£†C

	 Likert-type scaling is commonly used in the measurement of 

	 (a) Attitude					     (b) Intelligence

	 (c) Counseling					    (d) Perception 
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18. 	 DIET â¡ð¶ å¼

	 (Ü) ñ£õ†ì ÜPMò™ GÁõù‹		  (Ý) àí¾ è†´Šð£´ˆ F†ì‹

	 (Þ) îQò£˜ ÝCKò˜ ðJŸC GÁõù‹	 (ß)  ñ£õ†ì ÝCKò˜ ðJŸC GÁõù‹

	 DIET is a

	 (a) Regional Science Centre			   (b) Controlled Food Habits Plan

	 (c) Private Teacher Training Institute		  (d) Regional Teacher Training Institute 

19. 	 è™Mˆ F†ì‹ W›‚è‡ìõŸÁœ å¡¬øŠ ªðŸÁœ÷¶

	 (Ü) ðœOJ™ ñ£íõ˜ èŸè «õ‡®ò è™MŠ ªð£¼œ

	 (Ý) ðœO G˜õ£è‹ õöƒ°‹ ð£ìŠ ªð£¼œ

	 (Þ) ÝCKò˜è÷£™ îò£K‚èŠð´‹ Üô° ñŸÁ‹ ð£ìˆ F†ìƒèœ

	 (ß) ðœO ªêò™ð£´è÷£™ A¬ì‚°‹ ªñ£ˆî ÜÂðõ‹

	 The curriculum consists of the 

	 (a) subject matter children must learn in school					   

	 (b) subjects offered by the school authorities

	 (c) Unit and lesson plans prepared by teachers					   

	 (d) total experience in the school programme

20. 	 ï£†ìˆF¬ù Ü÷M´‹ «ê£î¬ùò£ù¶

	 (Ü) ®â®					     (Ý) Câ®

	 (Þ) ̄ â®					     (ß)  â‹â‹Hä

	 Aptitude is measured by 

	 a. TAT						     b. CAT 

	 c. DAT					     d. MMPI

21. 	 õ¬óðì ¶¬í‚ è¼Mèœ ................ ªè£‡ì¶

	 (Ü) å¼ ðKñ£í ¶¬í‚è¼Mèœ		 (Ý) ºŠðKñ£í ¶¬í‚è¼Mèœ

	 (Þ) â¡ - ðKñ£í ¶¬í‚ è¼Mèœ	 (ß)  Þ¼ ðKñ£í ¶¬í‚è¼Mèœ

	 Graphic aids are

	 a. one-dimensional aids			   b. three dimensional aids

	 c. n-dimensional aids				    d. two-dimensional aids
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22. 	 îò£KŠ¹ G¬ô, è†ì¬ñŠ¹, ñQî «ïò Üµ°º¬øèœ ............. àœ÷¶

	 (Ü) è™MJòL™				    (Ý) ð£ìˆF™

	 (Þ) è¬ôˆF†ìˆF™			   (ß)  ÞõŸÁœ â¶¾I™¬ô

	 Process, structure and Humanistic Approaches are in 

	 a. Education 					     b. Syllabus

	 c. Curriculum					     d. none of these

23. 	 î£ð£M¡ è¬ôˆF†ì ñ£FKò£ù¶

	 (Ü) ð°Š¹ º¬ø				    (Ý) MK¾¬ó

	 (Þ) ªî£°Š¹ º¬ø				   (ß)  î£«ù èŸ°‹ º¬ø

	 Taba model of curriculum refers to 

	 a. Deductive 					     b. Lectures

	 c. Inductive					     d. Heuristic

24. 	 õNº¬ø ñFŠd´ ñŸÁ‹ àŸðˆF ªð£¼œ â¡ðù W›‚è‡ì å¡P¡ Ü÷¾èœ Ü°‹

	 (Ü) ÞÁF‚ Ã†´				    (Ý) à¼õ£°G¬ô

	 (Þ) ªõO„ê G¬ô				    (ß)  è™Mò™ ñFŠd´

	 Process Evaluation and Product Evaluation are levels of 

	 a. Summative					     b. Formative

	 c. Illuminative					    d. Educational Evaluation

25. 	 õNè£†´îL¡ Í¡Á º‚Aò õ¬èèœ

	 (Ü) è™M, ªî£N™ ñŸÁ‹ îQïð˜ êÍè‹	(Ý) êÍè, àì™ïô‹ ñŸÁ‹ ªð£¼÷£î£ó‹

	 (Þ) àí˜„C, êÍè‹ ñŸÁ‹ ªð£¼÷£î£ó‹	(ß) ÞõŸÁœ â¶¾I™¬ô

	 The three major types of guidance are

	 a. educational, vocational and personal-social	 b. Social, health and economic

	 c. emotional, social and economic		  d. none of these

26. 	 õNè£†´îL¡ «ï£‚è‹ ñ£íõ˜èÀ‹ ÝCKò˜èÀ‹ M¼‹ðˆî‚è Fø¡è¬÷»‹ Fø¬ñè¬÷»‹ 
ªðø ªêŒõî£°‹ - Þ‚ÃŸ¬ø ÃPòõ˜

	 (Ü) ñ£«îvõó¡				    (Ý) ªñ‚ªì£ù£™´

	 (Þ) °†					     (ß)  ý™

	  “The purpose of guidance is to help the students and teachers in acquiring desirable abilities and 
skills”, This statement was given by 
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	 a. Mathos Von					    b. Mc Donald

	 c. Good					     d. Hull 

27. 	 è÷ àŸÁ«ï£‚è™ âŠªð£¿¶‹ å¼

	 (Ü) å¼ Üè àí˜¾ º¬ø			  (Ý) C‚èô£ù å¡Á

	 (Þ) «ï£‚èˆF™ å¡Á			   (ß)  Iè ê£î£óí å¡Á

	 Field observation is always a /an

	 a. subjective one				    b. complex one

	 c. objective one				    d. very simple one

28. 	 ä ‚Î 130-‚° «ñ«ô ªðŸP¼‚°‹ ñ£íõ˜èœ

	 (Ü) ªñ¶õ£è èŸðõ˜			   (Ý) eˆFø¡ °ö‰¬îèœ

	 (Þ) ï´ˆîó èŸðõ˜				   (ß)  Ü ñŸÁ‹ Ý M™ àœ÷õ˜èœ

	 The students having above 130 IQ are

	 a. slow learner					    b. gifted children

	 c. middle learner				    d. both a & b

29. 	 ð£ìƒèœ âOò G¬ôJL¼‰¶ è®ù G¬ô‚° õK¬ê‚ Aóññ£è ªê™õ¬î î¡ùèˆ«î 
ªè£‡´œ÷ ð£ì è¬ôˆ F†ì‹

	 (Ü) ð£ì ¬ñò è¬ôˆF†ì‹		  (Ý) èŸ«ð£˜ ¬ñò è¬ôˆF†ì‹

	 (Þ) ªêò™ ¬ñò è¬ôˆF†ì‹		  (ß)  C‚è™ ¬ñò è¬ôˆF†ì‹

	 The subjects are framed in stages from easy to difficult way in a curriculum design. This is 

	 a. subject centred				    b. learned centred

	 c. activity centred				    d. problem centred

30. 	 àì™ áùºŸø °ö‰¬îè¬÷ ªð£¼ˆîñ†®™ °Pf´ â¡ð¶

	 (Ü) å¼ âF˜ñ¬øò£ù è¼ˆ¶		

	 (Ý) å¼ «ï˜ñ¬øò£ù è¼ˆ¶

	 (Þ) °ö‰¬îJì‹ àœ÷ å¼ °¬øð£´	

	 (ß)  Þ¬õ Ü¬ùˆ¶‹

	 In the context of handicapped children Labeling refers to 

	 a. negative concept				    b. a positive instruction

	 c. a stigma present in the child			   d. all of these

   E 2
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ð°F&II

îI›

ÞŠð°FJ™ 30 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

31.	  «êÎ˜ º¼è¡ Hœ¬÷ˆ îI›Õ ð£®òõ˜

		  a. °ñó°¼ðó˜ 		  b. eù£†C ²‰îóù£˜

		  c. Ü‰îè‚èM ióó£èõ˜		   d. ðèN‚Ãˆî˜

32. 		 Òñ¬ôò¼MÓ â¡ð¶.... ªî£°Š¹ Ë™

		  a. ¹¶‚èM¬îèO¡    		  b. ¬ý‚Ã‚ èM¬îèO¡

		  c. ñó¹‚èM¬îèO¡		  d. ï£«ì£®Š ð£ì™èO¡ 

33.	  ÔîIöèˆF¡ Ü¡Qªðê‡†Ó âùŠ ¹èöŠ ð†ìõ˜

		  a. Þó£ñ£I˜î‹ Ü‹¬ñò£˜ 		  b. ºˆ¶ªô†²Iªó†® 

		  c. cô£‹H¬èò£˜		  d. î¼ñ£‹ð£œ

34.	  ÒÜ‹ñ£¬ùÓ â¡ð¶ .... M¬÷ò£†´

		  a. Ýìõ˜		   b. ñèO˜

		  c. Þ¼ð£ô˜		   d. °ö‰¬îèœ 	

35. 		 Ôèô‹ðè‹Ó â¡Â‹ CŸPô‚AòˆF¡ àÁŠ¹èœ

		  a. 12 		  b. 16	

	  c. 18 		  d. 19 	 

36. 	 ä‹ªð¼ƒè£ŠHòƒèÀœ ñíË™ âùŠ«ð£ŸøŠð´õ¶

		  a. CôŠðFè£ó‹ 		  b. ñE«ñè¬ô

		  c. °‡ìô«èC 		  d. YõèC‰î£ñE 

37. 	 ñíË™ âù Ü¬ö‚èŠð´õ¶.

(Ü) CôŠðFè£ó‹				    (Ý) ñE«ñè¬ô

(Þ) YõèC‰î£ñE				    (ß)  ïKM¼ˆî‹
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38.	  Ôò£¬ùÕ â¡ø ªð£¼œî¼‹ Óè÷ð‹Ó â¡ø ªê£™L¡ ñŸªø£¼ ªð£¼œ

		  a. ªïŒ 	 b. ê‰îù‹

	 c. F¼cÁ 	 d. ð¡m˜ 

39.	  Òä‰¶Ó â¡ð¬î ÒÜ…²Ó â¡Á ÃÁõ¶

		  a. ºîŸ«ð£L 		  b. Þ¬ìŠ«ð£L

		  c. è¬ìŠ«ð£L 		  d. ºŸÁŠ«ð£L 	  

40. 		 ð°ðî àÁŠ¹èœ ªñ£ˆî‹... àœ÷ù

		  a. Í¡Á 		  b. ï£¡°

		  c. ä‰¶ 		  d. ÝÁ 	  

41. 		 Òñ‡, è™, ªð£¡Ó - â¡ðù

		  a. ð°ðîƒèœ 		  b. ªðò˜Šð°ðîƒèœ

		  c. ªðò˜Š ðè£Šðîƒèœ 		  d.M¬ùŠ ðè£Šðîƒèœ 

42.	  F¼ˆî‚è «îõ˜ ÞòŸPò Ë™èÀœ å¡Á

		  a. õ¬÷ò£ðF  		  b. ðKM¼ˆî‹

		  c. ïKM¼ˆî‹  		  d. èKM¼ˆî‹ 

43.	  YõèC‰î£ñE å¼ .... è£ŠHò‹ 

		  a. êñí‚è£ŠHò‹ 		  b. ¬õíõ‚è£ŠHò‹ 

		  c. ªð÷ˆî‚è£ŠHò‹		  d. ¬êõ‚è£ŠHò‹ 	  

44.  		 ÒÝÍ˜ ñ™ôÂ‚°‹ ïŸAœO‚°‹ Þ¬ì«ò ï¬ìªðŸø ió M¬÷ò£†¬ì õ¼E‚°‹ Ë™

		  a. Üèï£ÛÁ 		  b. ¹øï£ÛÁ

		  c. èLˆªî£¬è 		  d. ïŸP¬í 	

45.		  ãÁî¿¾î™ - â¡Â‹ ió M¬÷ò£†´ Gè›‰î Gô‹

		  a. °P…C 		  b. ñ¼î‹

		  c. ªïŒî™ 		  d. º™¬ô 	
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46. 		 ð‡¬ìò ñèO˜ ªï™L‚ è£Œè¬÷ ¬õˆ¶ Ý®ò M¬÷ò£†´

		  a. èöƒ° 		  b. æ¬óò£´î™

		  c. õ†ì£´î™ 		  d. Ü‹ñ£¬ù 

47. 	 è£Aî ñô˜èœ & ï£õ¬ô â¿Fòõ˜ ò£˜?

Ü. ªüòè£‰î¡				    Ý. õ‡íGôõ¡

Þ. Ýîõ¡					     ß. ó£ü‹ A¼wí¡

 

48. 		 â¡«ù! îIN¡ ÞQ¬ñ! - Þˆªî£ì˜

		  a. ªêŒFˆªî£ì˜ 		  b. è†ì¬÷ˆªî£ì˜

		  c. Mù£ˆªî£ì˜ 		  d. àí˜„Cˆªî£ì˜ 

49. 		 M‡¬í º†´‹ ªî¡¬ùÓ Þ¶.... ÜEJ¡ ð£Ÿð´‹

		  a. îŸ°PŠ«ðŸø‹ 		  b. Þò™¹ ïMŸC

		  c. àò˜¾ ïMŸC 		  d. HP¶ªñ£Nî™ 	  

50. 		 æ˜ â¿õ£Œ, ðôðòQ¬ôè¬÷‚ ªè£‡´ º®»‹ ªð£¿¶ åšªõ£¼ ðòQ¬ô‚°Š 
H¡ù¼‹ Þì «õ‡®ò GÁˆî‚ °P

		  a. è£Ÿ¹œO 		  b. Ü¬óŠ¹œO

		  c. ºŸÁŠ¹œO 		  d. MòŠ¹‚ °P 

  

51.	  Òð²‹ªð£Ÿ²ì˜Ó â¡ð¬îŠ HK‚°‹ º¬ø

		  a. ð² + ªð£ø¢²ì˜ 		  b. ð²¬ñ + ªð£¡ + ²ì˜

		  c. ð² + ªð£Ÿ + ²ì˜		  d. ¬ð‹ªð£¡ + ²ì˜ 	

52.	  ÒîQ¬ñ„ ²¬õ»œ÷ ªê£™¬ô - âƒèœ îINÂ‹ «õªøƒ°‹ ò£ƒè‡ìF™¬ôÓ - Þšõ£Á 	
ºöƒAòõ˜

		  a. ð£óFò£˜ 		  b. ð£óFî£ê¡

		  c. èMñE 		  d. ï£ñ‚è™èMë˜  

53.	  ð£óFî£êQ¡ ÞòŸªðò˜

		  a. âˆFó£ü½ 		  b. Þó£ê«è£ð£™

		  c. ºˆ¬îò£ 		  d. ²Š¹óˆFù‹ 	  
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54. 		 Òàöõ˜èO¡ ¬èè«÷ àJ˜èÀ‚° â¡ªø¡Á‹ Ü¬ì‚èô‹ ÜO‚°‹ ¬èèœÓ 
âù„CøŠHˆ¶Š ð£®òõ˜

		  a. è‹ð˜ 		  b. å†ì‚Ãˆî˜

		  c. å÷¬õò£˜ 		  d. ¹è«ö‰Fò£˜ 

	  

55. 	 ð‡¬ìò îIöèˆF™ Òè‡ªí¿ˆ¶Ó â¡Á ²†ìŠð†ì è¬ô

		  a. Þ¬ê‚è¬ô		   b. ï£†®ò‚ è¬ô

		  c. åMò‚è¬ô 		  d. CŸð‚è¬ô 	 

56. 		 ñ£˜¹, Í›° - Þ¬õ.... °ŸPò½èóƒèœ

		  a. ªï®Ÿªø£ì˜ 		  b. àJ˜ˆªî£ì˜

		  c. Þ¬ìˆªî£ì˜		  d. õ¡ªî£ì˜

57. 		 Òà¬öˆ¶Š H¬öÓ â¡ð¶

		  a. ªêŒFˆªî£ì˜ 		  b. M¬ö¾ˆªî£ì˜

		  c. è†ì¬÷ˆªî£ì˜ 		  d. àí˜„Cˆ ªî£ì˜ 	

58. 		 ÓÍ«õ‰î˜èÀ‹ îI› ªñ£N¬ò õ÷˜ˆîù˜Ó â¡ð¶... ªî£ì˜

		  a. î¡M¬ù 		  b. HøM¬ù

	 c. ªêŒM¬ù 				    d. ªêòŠð£†´M¬ù 				 
	

59. 		 Ò¹øïè˜Ó â¡Â‹ õö‚°

		  a. Þô‚èíº¬ìò¶ 		  b. Þô‚èíŠ «ð£L

		  c. ñÏà		   d. °¿à‚°P 	  

60.	  Òäò£ å¡Á‚°Š «ð£è «õ‡´‹Ó â¡Á CÁõ¡ ÃÁõ¶

		  a. Þì‚èóì‚è™ 		  b. ñƒèô‹

	 c. °¿à‚°P 				    d. Þô‚èíŠ«ð£L
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PART&III

ENGLISH

There are 30 questions in this part. All the questions are compulsory.

61.	 SENTENCE PATTERN 

	 Identify the pattern of the following sentence.						    

	 Kamala met her teacher in the market.

	 (a) S V O A					     (b) S V O C		

	 (c) S V IO DO					    (d) SV DO IO

62. 	 Then more and more children became her friends and she spread love to everyone

	 A. Adjective					     B. Preposition		

	 C. Pronoun					     D. Conjunction

63.	 Oh! I didn’t know about them

	 A. Preposition					    B. Interjection		

	 C. Conjunction				    D. Pronoun

64.	 What is the synonym for ‘dreaded’ 

	 (a) Fearful					     (b) Potent

	 (c) Talented					     (d) Gentle

65.	 Choose the alternative which best expresses the meaning of the idiom/phrase given in bold.

           	 In this day and age

	 (a) In old age of a person

	 (b) Logically concluded time

	 (c) To be suddenly aware of

	 (d) In modern time

66.	 What is the antonym for ‘Strange’

	 (a) Gloomy 					     (b) Constant

	 (c) Common					     (d) Callous
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67.	 Choose the appropriate preposition to complete the sentence.

			   Sam walked ........ him and the road.

			   (a) across					     (b) between			 

			   (c) by	   					     (d) among

68.	 Fill in the blank with most appropriate article:

			   Ant is ....... insect.

			   (a) a						      (b) an			 

			   (c) the						     (d) some

69.		  Choose the right question tag:

			   The crocodile was slowly moving, ........?

			   (a) isn’t it					     (b) wasn’t it			 

			   (c) was it					     (d) didn’t it

70.	 Find out  the mis spelt word:

	  a) nineteen 					     b) naughty

	 c) nightngale					      d) neutral

71.	 Choose the correct verb form to complete the sentence.

	 Either you come ......... you stay there.

	 (a) and					     (b) not			 

	 (c) or						      (d) along with

72.	 Select the proper prefix or suffix for the given word.         Scholar		  :

	 A. er						 	      B. ty	 	   
C. hood							      D. ship

73.	 Identify the adjective:

	  She wrote a …………….book.

	 a) best						     b) Better

	 c) very good					     d) well
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	 Fill in the blanks in the given passage and choose the right option against each number

	 Every Sunday I go to the orphanage and spend  __ 74___ with the children there. ___ 75 ___ one such 
visit. I saw a nine years ___ 76 ___ boy sitting alone and crying silently. I asked him why he was crying. 
He would not answer. I sat down ___ 77 ___ him and consoled him as best as I could. Gradually he ___ 
78 ___ crying and told me that he ____ 79 ____ away from the tea stall because of the harsh ___ 80 ___ 
he faced there.

74	  (a) anytime		  (b) no time		  (c) sometime		  (d) every time

75 	 (a) when		  (b) during		  (c) now			  (d) ever

76	  (a) old		  (b) older		  (c) elder		  (d) eldest

77	  (a) around		  (b) beyond		  (c) between		  (d) beside

78	 (a) stop		  (b) stopped		  (c) stopping		  (d) stop

79	  (a) running		  (b) ran			   (c) has run		  (d) had run

80 	 (a) kindess		  (b) treatment		  (c) behavior		  (d) rudeness

81.	 Ram is the ‘Dara Singh’ of our college.

	 a) Material Noun				    b) Proper Noun

	 c) Common Noun				    d) Abstract Noun

82.	 Identify the correct COMPOUND sentence form:

 	 It was so dark that we lost our way

	 a. It was too dark to lose our way		   b .Being very dark and we lost our way

	 c. It was very dark and we lost our way		  d. We lost our way because of darkness  

83.	 Give the correct PUNCTUATION

 	 ladies buy clothes cosmetics slippers and handbags very often.

	 a. . Ladies buy clothes, cosmetics, slippers and handbags very often
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 	 b. Ladies buy clothes; cosmetics; slippers and handbags very often

	 c. Ladies buy clothes cosmetics, slippers andhandbags very often

	 d. Ladies buy clothes cosmetics slippers and handbags very often

84.	 Fill in the blanks with the correct Pronoun:

 	 The dog ______ ran away yesterday returned this morning  

	 a. who						     b. whose

	 c. whom					     d. which

85	  ______ is a global system of inter connected computers.

	 (a) Dishnet					     (b) Fishing net		

	 (c) Goblet					     (d) Internet

86 	 We ________ independence day on 15th August.

	 (a) celebrate					     (b) celebrates		

	 (c) celebrated					     (d) celebrating

88 	 Aprasa realised many things that day. Give the synonym

	 (a) understood					    (b) confused		

	 (c) questioned					    (d) mentioned

89 	 I saw a man running _______ the road.

	 (a) around					     (b) in			 

	 (c) along					     (d) after

90.	 Hearing the loud noise , he rushed ________ the rocm.

	 (a) on						      (b) of			 

	 (c) out						     (d) out of

   E 3
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ð°F & IV

PART - IV

èí‚° 

MATHEMATICS 

91. 	 292 ï£†èœ =

	 (Ü) 1/5 Ý‡´				    (Ý) 3/5 Ý‡´

	 Þ) 4/5 Ý‡´				    (ß) 2/5 Ý‡´ 

	 292 days =

	 (A)  1/5 Years					    (B)  3/5 Years

	 (C) 4/5 Years					    (D) 2/5 Years

92.	 36 ñŸÁ‹ 54 â¡ø â‡èO¡ eŠªð¼.ªð£.õ 18 âQ™ Üšªõ‡èO¡ e„CÁ. 			
ªð£.ñ.¬õ‚ 	è£‡è.

	 (Ü) 96					     (Ý) 110

	 (Þ) 112					     (ß) 108

	 The G.C.D. of 36 and 54 is 18 find their L.C.M.

	 (A) 96						     (B) 110

	 (C) 112					     (D) 108

93.	 å¼ ïð˜ 96 ê.e ðóŠð÷¬õ 8 ï£†èO™ ªõœ¬÷ Ü®ˆî£˜. 18 ï£†èO™ âšõ÷¾ 		
ðóŠð÷¬õ ªõœ¬÷ Ü®‚è º®»‹?

	 (Ü) 216 ê.e 				    (Ý) 343 ê.e

	 (Þ) 298 ê.e					    (ß) 512 ê.e

	 A man whitewashes 96 sq.m of a compound wall in 8 days. How many sq.m will be white washed in 	
18 days?

	 (A) 216 sq.m					     (B) 343 sq.m

	 (C) 298 sq.m					     (D) 512 sq.m

94.	 å¼ ªè£œèôˆF™ àœ÷ 20% Ýù¶ 40 L†ì˜ â‡ªíŒ Ý°‹ Ü‚ªè£œèôˆF™ àœ÷ 	
â‡ªíJ¡ ªñ£ˆî Ü÷¬õ‚ è£í¾‹.

	 (Ü) 250 L†ì˜				    (Ý) 200 L†ì˜

	 (Þ) 100 L†ì˜				    (ß)150 L†ì˜

	 20% of the total quantity of oil is 40 litres. Find the total quantity of oil in litres.(200 litres)

	 (A) 250 litres					     (B) 200 litres

	 (C) 100 litres					     (D) 150 litres
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95.	 å¼ ñ£íõKì‹ 11 °PŠ«ð´èÀ‹ 7 ¹ˆîƒèÀ‹ àœ÷ù. ÜõKì‹ àœ÷ 			 
°PŠ«ð´èO¡ â‡E‚¬è‚°‹ ¹ˆîèƒèO¡ â‡E‚¬è‚°‹ àœ÷ MAî‹ â¡ù?

	 (Ü) 14:22					     (Ý) 7:11

	 (Þ) 11:7					     (ß) 22:14

	 A student has 11 note books and 7 textbooks. Find the ratio of the notebooks to that of the text books.

	 (A) 14:22					     (B) 7:11

	 (C) 11:7					     (D) 22:14

96.	 16 ªð¡C™èO¡ M¬ô  48 âQ™, 4 ªð¡C™èO¡ M¬ô¬ò‚ è£‡è.

	 (Ü)  12					     (Ý)  14

	 (Þ)  18					     (ß)   15

	 If the cost of 16 pencils is  48, find the cost of 4 pencils.

	 (A)  12					     (B)  14 

	 (C)  18					     (D)  15

97.	 æ˜ àí¾ «ñ¬êJ¡ Üì‚è M¬ô  8400. °¿ñ‹ å¡Á Ý‡ªì£¡Á‚° 5% îQ 		
õ†® iîˆF™ MŸAø¶. ªõƒè† Þ‹«ñ¬ê¬ò 10 ñ£îˆ îõ¬íèO™ ªðø G¬ù‚A¡ø£˜. 
Üõ˜ ªê½ˆî «õ‡®ò ñ£î îõ¬í»‹ ªñ£ˆîˆ ªî£¬è¬ò»‹ 	è£í¾‹. 

	 (Ü) ñ£îˆ îõ¬í = 775, ªñ£ˆîˆ ªî£¬è =  7750			 

	 (Ý) ñ£îˆ îõ¬í =  875, ªñ£ˆîˆ ªî£¬è =  8,750

	 (Þ) ñ£îˆ îõ¬í = 825, ªñ£ˆîˆ ªî£¬è =  8250			 

	 (ß) ñ£îˆ îõ¬í = 800, ªñ£ˆîˆ ªî£¬è =  8000

	 The cost of a dining table is  8,400. Venkat wants to buy it in 10 instalments. If the company offers 	
it  for a S.I. of 5% p. a., find the E.M.I. and the total amount paid by him.

	 (A) E.M.I. = 775, Total Amount = 7750	 (B) E.M.I. =  875, Total Amount =  8,750

	 (C) E.M.I. = 825, Total Amount = 8250	 (D) E.M.I. = 800, Total Amount = 8000

98.	 å¼ ¹ˆîèˆF¡ e¶ Üî¡ M¬ô  450 °PŠHìŠð†´œ÷¶. å¼ ¹ˆîè‚ è‡è£†CJ™ 	
è¬ì‚è£ó˜ ÜŠ¹ˆîèˆF¡ e¶ 20% îœÀð® ªè£´‚A¡ø£˜. ÜŠ¹ˆîèˆF¡ MŸð¬ù 		
M¬ô â¡ù?

	 (Ü)  320					     (Ý)  350

	 (Þ) 340		   			   (ß)   360

	 The price marked on a book is  450. The shopkeeper gives 20% discount on it a

	 in book exhibition. What is the Selling Price?

	 (A)  320					     (B)  350
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	 (C)  340					     (D)  360

99. 	 å¼ ïð˜  250‚° õ£ƒAò ªð£¼¬÷  25 Þô£ðˆFŸ° MŸø£˜. Üî¡ Þô£ð êîiî‹(10)

	 (Ü) 25 					     (Ý) 10

	 (Þ) 250					     (ß) 225

	 If a man makes a profit of 25 on a purchase of 250, then profit% is

	 (A) 25 						      (B) 10 

	 (C) 250 					     (D) 225

100.	 b˜‚è: 2x + 5 = 23 - x

	 (Ü) x  = 6					     (Ý) x  = 7

	 (Þ) x  = 5					     (ß)  x  = 3

	 Solve: 2x + 5 = 23 - x

	 (A) x  = 6					     (B)     x  = 7

	 (C) x  = 5					     (D)    x  = 3

101. 	 å¼ ê¶óƒèŠðô¬èJ™ 64êñ ê¶óƒèœ àœ÷ù. åšªõ£¼ ê¶óˆF¡ ðóŠ¹ 6.25 ê.ªê.e 	
â‡è. ê¶óƒèŠ ðô¬èJ™ ï£¡°Š ð‚èƒèO½‹ ªõOŠ¹ø ê¶óƒè¬÷ å†® 2 ªê.e 		
ÜèôˆF™ ð†¬ìò£ù æó‹ àœ÷¶ âQ™, ê¶óƒèŠ ðô¬èJ¡ ð‚èˆF¡ c÷ˆF¬ù‚ 		
è£‡è.

	 (Ü) 18 ªê.e 				    (Ý) 22 ªê.e 

	 (Þ) 12 ªê.e					    (ß) 24 ªê.e

	 A chess board contains 64 equal squares and the area of each square is 6.25 cm2 . A border around 		
the board is 2 cm wide. Find the length of the side of the chess board.

	 (A) 18 cm					     (B) 22 cm

	 (C) 12 cm					     (D) 24 cm

102.	 52 Y†´‚è¬÷ ªè£‡ì å¼ è†®LL¼‰¶ å¼ Y†´ à¼õ£‚èŠð´Aø¶. Ü„Y†´

	 (i) è£ô£†ð¬ì ió¡ (jack) (ii) 5 Ü™ô¶ ÜîŸ°‹ °¬øõ£ù â‡

	 (iii) ÜóC (queen) Ü™ô¶ 7 A¬ìŠðîŸè£ù Gè›îè¾èœ è£‡è.

	 (Ü) 1/8,1/9,2/13				    (Ý) 1/4,3/4,1

	 (Þ) 2/13,4/13,2/13				   (ß)1/13,4/13,3/13

	 A single card is drawn from a pack of 52 cards. What is the probability that

	 (i) the card is a jack or king (ii) the card will be 5 or smaller
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	 (iii) the card is either queen or 7.

	 (A) 1/8,1/9,2/13				    (B) 1/4,3/4,1

	 (C) 2/13,4/13,2/13				    (D) 1/13,4/13,3/13

103.	 512 Þ¡ èùÍô‹ è£‡è.

	 (Ü) 6					     (Ý) 8

	 (Þ) 12					     (ß)  7

	 Find the cube root of 512.
	 (A) 6						      (B) 8

	 (C) 12						     (D) 7

104. 	 å¼ àœkìŸø Ü¬ó‚«è£÷ˆF¡ ªõO Ýó‹ ñŸÁ‹ àœ Ýó‹ º¬ø«ò 4.2 ªê.e ñŸÁ‹ 	
2.1 ªê.e âQ™ Üî¡ õ¬÷ðóŠ¹ ñŸÁ‹ ªñ£ˆî ¹øŠðóŠ¬ð‚ è£‡è.

	 (Ü) 42.11 π ªê.e2, 58.11	 π ªê.e2		 (Ý) 43.11, 56.11 

	 (Þ) 45.11 π ªê.e2, 57.11 π ªê.e2		  (ß) 44.1 π ªê.e2, 57.33 π ªê.e2

	 Find the curved surface area and total surface area of a hollow hemisphere whose outer and inner 		
radii 	 are 4.2 cm and 2.1 cm respectively.

	 (A) 42.11 π cm2, 58.11 π cm2			   (B) 43.11 π cm2, 56.11 π cm2

	 (C) 45.11 π cm2, 57.11 π cm2			  (D) 44.1 πcm2,57.33 π cm2

105. 	 å¼ ñ¼‰¶‚ °ŠHò£ù¶ å¼ à¼¬÷J¡ Þ¼¹øº‹ Ü¬ó‚«è£÷ƒèœ Þ¬í‰î  õ®M™ 	
àœ÷¶. ñ¼‰¶‚ °ŠHJ¡ ªñ£ˆî c÷‹ 14 I.e ñŸÁ‹ M†ì‹ 5 I.e âQ™ Ãì£óˆî¡ 	
Ü‹ñ¼‰¶‚ °ŠHJ¡ ¹øŠðóŠ¬ð‚ è£‡è.

	 (Ü) 250 I.e2				    (Ý) 240 I.e2

	 (Þ) 220 I.e2				    (ß)  230 I.e2

	 A capsule is in the shape of a cylinder with two hemispheres stuck to each of its ends. If the length of 	
the entire capsule is 14 mm and the diameter of the capsule is 5 mm, find its surface area.

	 (A) 250 mm2					     (B) 240 mm2

	 (C) 220 mm2					     (D) 230 mm2

106.	 å¼ èù„ê¶ó õ®õ c˜ˆªî£†®J¡ ªè£œ÷÷¾ 27,000 L†ì˜ âQ™, Üî¡ ð‚è 		
Ü÷¬õ‚è£‡è.

	 (Ü) 5 e					     (Ý) 4 e
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	 (Þ) 3 e					     (ß)  2 e

	 A cubical tank can hold 27,000 litres of water. Find the dimension of its side.
	 (A) 5m					     (B) 4m

	 (C) 3m 					     (D) 2m

107.	 å¼ õ°ŠH™ àœ÷ 35 ñ£íõ˜èO™ 20 «ð˜ Ý‡èœ ñŸÁ‹ 15 «ð˜ ªð‡èœ. 		
êñõ£ŒŠ¹ º¬øJ™ å¼ ñ£íõ˜ «î˜‰ªî´‚èŠð´Aø£˜ âQ™, H¡õ¼‹ Gè›„CèO¡ 	
Gè›îè¾è¬÷‚ è£‡è. 

	 (i) «î˜‰ªî´‚èŠð´ðõ˜ ñ£íõù£è Þ¼ˆî™ 

	 (ii) «î˜‰ªî´‚èŠð´ðõ˜ ñ£íMò£è Þ¼ˆî™.

	 (Ü) 4/35,5/35 				    (Ý) 20/35,15/35

	 (Þ) 20/35,17/35 				    (ß) 15/35,17/35

	 There are 20 boys and 15 girls in a class of 35 students . A student is chosen at random.

	 Find the probability that the chosen student is a 

	 (i) boy (ii) girl.
	 (A) 4/35,5/35					     (B) 20/35,15/35

	 (C) 20/35,17/35				    (D)15/35,17/35

108.	 7 1 7 1 = a + b 7
7 1 7 1
− +

+
+ −

 âQ™ a ñŸÁ‹ b ÞõŸP¡ ñFŠ¹è¬÷‚ è£‡è.

	 (Ü) a = 7/3, b=1				    (Ý) a = 8/3, b=0

	 (Þ) a = 4/3, b=2				    (ß) a = 5/3, b=3

	 If  
7 1 7 1 = a + b 7
7 1 7 1
− +
+ −

, find the values of a and b.

	 (A) a = 7/3, b=1				    (B) a = 8/3, b=0

	 (C) a = 4/3, b=2				    (D) a = 5/3, b=3

109. 	 1010 x 102 ‚° êññ£ù¶

	 (Ü) 105					     (Ý) 108

	 (Þ) 1012					     (ß)  1020

	 1010 × 102 is equal to

	 (A) 105 					     (B) 108 			
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	 (C) 1012 					     (D) 1020

110.	 ªð£¶ MAî‹ I¬è â‡í£è Þ¼‚°‹ å¼ ªð¼‚°ˆ ªî£ìK™ 4 àÁŠ¹èœ àœ÷ù. 		
ºî™ Þó‡´ àÁŠ¹èO¡ Ã´î™ 8 ñŸÁ‹ Üî¡ è¬ìC Þó‡´ àÁŠ¹èO¡ Ã´î™ 	
72 âQ™, Üˆªî£ì¬ó‚ è£‡è.

	 (Ü) 3+7+17+50				    (Ý) 5+6+20+60

	 (Þ) 2+6+18+54				    (ß) 7+9+25+52

	 A geometric series consists of four terms and has a positive common ratio. The sum of the first two 	
terms is 8 and the sum of the last two terms is 72. Find the series.

	 (A) 3+7+17+50				    (B) 5+6+20+60

	 (C) 2+6+18+54				    (D) 7+9+25+52

111. 	 º¿¬ñˆªî£°FJ™ àœ÷ â™ô£ àÁŠ¹è¬÷»‹ Üì‚Aò ð†®ò¬ô ............ â¡A«ø£‹.

	 (Ü) ºî™ G¬ô ð†®ò™			   (Ý) Þó‡ì£‹G¬ô ð†®ò™

	 (Þ) ñ£FKŠ ð†®ò™				   (ß) â¶¾I™¬ô

	 The list of all the items of a population is known as ______

	 (A) primary frame				    (B) secondary frame

	 (C) sampling frame				    (D) none of these

112. 	 ðóõ™ ªêšõèðì‹ â¡ø õ¬óðìˆF¡ Íô‹ Þî¡ ñFŠ¬ð èí‚Aìô£‹.

	 (Ü) êó£êK					     (Ý) Þ¬ìG¬ô

	 (Þ) ºè´					     (ß)  «ñŸÃPò Ü¬ùˆ¶‹

	 Histogram is useful to determine graphically the value of

	 a) mean 					     b) median 		

	 c)mode 					     d)all the above

113. 	 å¼ AK‚ªè† °¿M™ 10 ñ£íõ˜èO¡ êó£êK â¬ì 65.5 A.A. Ü‰î ðˆ¶ ñ£íõ˜èO¡ 	
ªñ£ˆî â¬ì â¡ù?

	 (Ü) 640 A.A					    (Ý) 660 A.A

	 (Þ) 650.0 A.A 				    (ß)  652 A.A

	 The mean weight of 10 boys in a cricket team is 65.5 kg. What is the total weight of 10 boys.

	 (A) 640 kg					     (B) 660 kg

	 (C) 650.0 kg					     (D) 652 kg
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114. 	 MõóƒèO¡ ªî£°Š¹ å¡P¡ F†ìMô‚è‹ 2 2 . ÜF½œ÷ åšªõ£¼ ñFŠ¹‹ 3Ý™ 		
ªð¼‚è‚ A¬ì‚°‹ ¹Fò Mõóˆ ªî£°ŠH¡ F†ìMô‚è‹

	 (Ü) 12 					     (Ý) 4 2

	 (Þ) 6 2 					     (ß) 6 3  

	 Standard deviation of a collection of data is 2 2  . If each value is multiplied by 3, then the standard 	
deviation of the new data is

	 (A) 12 					     (B) 4 2  	

	 (C) 6 2  					     (D) 6 3

115.	 100 õ¬ó‚°‹ àœ÷ åŸ¬øŠð¬ì â‡èO¡ Ã´î™ è£‡è.

	 (A) 2500					     (B) 2600		

	 (C) 2400					     (D) 2300

	 Find the sum of all odd numbers upto 100.	

		  (A) 2500					     (B) 2600		

	 (C) 2400					     (D) 2300

116.	 12 î„ê˜èœ 460 ï£Ÿè£Lè¬÷ å¼ ï£À‚° 6 ñE«ïó‹ «õ¬ôªêŒ¶ 24 ï£†èO™ ªêŒ¶ 
º®‚A¡øù˜. âQ™, 18 î„ê˜èœ å¼ ï£À‚° 8 ñE«ïó‹ «õ¬ôªêŒ¶ 36 ï£†èO™ 
âˆî¬ù ï£Ÿè£Lè¬÷ ªêŒ¶ º®Šð˜? 

	 (A)  1260	 				    (B) 1320		

	 (C) 920	  				    (D) 1380

	 If 12 carpenters, working 6 hours a day, can make 460 chairs in 24 days, how many chairs will 18 car-
penters make in 36 days, each working 8 hours a day? 

	 (A)  1260	 	 			   (B) 1320		

		  (C)	  920	  				    (D) 1380

	

117.	 å¼ êƒ«èî ªñ£NJ™ ªõœ¬÷ ñ¬ö âù¾‹, ñ¬ö ð„¬ê âù¾‹, ð„¬ê cô‹ âù¾‹, cô‹ 
«ñè¾‹ âù¾‹, «ñè‹ CõŠ¹ âù¾‹, CõŠ¹ õ£ù‹ âù¾‹, õ£ù‹ ñ…êœ âù¾‹, ñ…êœ 
è¼Š¹ âù¾‹ ªè£‡ì£™, ÞóˆîˆF¡ Gø‹ â¡ù?  

	 (A)	 CõŠ¹					     (B) cô‹		

	 (C)   «ñè‹					     (D) õ£ù‹

		  In a certain language, white is called rain, rain is called green, Green is called blue, Blue is called cloud, 
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Cloud is called red, Red is called sky, Sky is called yellow, Yellow is called black, which one is the colur 
of blood? 

		  (A)	 Red					     (B) Blue		

		  (C) cloud 					     (D) sky

118.	 Þ¼ ðè£ â‡èO¡  I‹ªð¼ ªð£.õ â¡ð¶ 

	 A)	 1 					     B) ðè£ â‡ 

	 C) ð° â‡ 					    D) 0

	 GCD of two prime Numbers is 

	 A)1						      B) prime Numbers 

	 C) Composite  					    D)  0

119.  	 1,1331, 9261 , ?

	 A) 79791   					     B)28791    

	 C) 23791    					     D) 29971 

120.	 ï£‹ ÞŠ«ð£¶ ðò¡ð´ˆ¶‹ “Sine” âÂ‹ °Pf†¬ì ºî¡ ºîL™ àð«ò£Aˆîõ˜ 

	 Who is the first person uses the  “Sine” symbol

	 A)	 Thales/«îLv 				    B) Willium Blake/ M™Lò‹ H«÷‚ 

	 C) Aryabatta / ÝKòð†ì£   			   D)  J.F. Herbert  / J.F ªý˜ð˜†
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ð°F & V

PART - V

EVS
ÞŠð°FJ™ 60 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

There are 60 questions in this part. All the questions are compulsory.

121.	 ²òó£xTò‹ âù¶ HøŠ¹K¬ñ Ü¬î Ü¬ì‰«î b¼«õ¡ âù ºöƒAòõ˜

	 Ü. Fôè˜					     Ý. è£‰F	

	 Þ. «è£è«ô					     ß. ó£ù«ì

	  swaraj is my birth right I shall have it  declared by
	 A) Thilagar  					     B) Gandhi  
	 C) Gokulae 					     D) Ranade

122.	 G» Þ‰Fò£ ðˆFK‚¬è¬ò ïìˆFòõ˜

	 Ü. Fôè˜					     Ý. «ï¼ 	

	 Þ. Ü¡Qªðê¡†				    ß. ªõ†ì˜Šð˜¡

	 New india newspaper was started by
	 A) Thilak  					     B)Nehru  
	 C) Annie besant 				    D) Vetter per

123.	  ºvh‹ h‚ è†C «î£ŸÁM‚èŠð†ì Ý‡´

	 Ü. 1905					     Ý. 1906	

	 Þ. 1907					     ß. 1909

	 Muslim league was formed in the year----------
	 A) 1905                              B) 1906                         C) 1907                        D) 1909

124.	  ªê¡¬ùJ™ î¡ù£†C‚ èöèˆ¬î GÁMòõ˜

	 Ü. Ü¡Qªðê¡†				    Ý. Fôè˜	

	 Þ. êLº™ô£è£¡				    ß. ªüùó™ìò˜

	 Home Rule league in Chennai was Started by----------
	 A)  Annie besant                                                              B) Thilag 
	  C) Salimulakhan 				    D) General Tyre

125. 	 Åóˆ ñ£ï£´ ï¬ìªðŸø Ý‡´

	 Ü. 1906					     Ý. 1907	

	 Þ. 1911					     ß. 1914
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	 Surat session of Congress was held in ----------------

	 A)1906  					     B)1907  		

	 C)1911 					     D)1914

126. 	 ªó÷ô† ê†ì‹ ªè£‡´ õóŠð†ì Ý‡´

	 Ü. 1919					     Ý. 1918	

	 Þ. 1917					     ß. 1916

	 Rowlatt Act was passed in the year -------------
	 A)1919  					     B)1918 		
	 C)1917		   			   D)1916

127.	 ô‚«ù£ åŠð‰î‹ ãŸð†ì Ý‡´

	 Ü. 1914					     Ý. 1916	

	 Þ. 1919					     ß. 1929

	 lucknow pact was signed in the year-----------
	 A) 1914	  				    B)1916		   
	 C)1919 					     D)1929

128.	  Þ‰Fò «îCò è£ƒAóv «î£ŸÁM‚èŠð†ì Ý‡´

	 Ü. 1885					     Ý. 1886	

	 Þ. 1887					     ß. 1888

	 Indian National Congress was founded in the year--------------
	 A) 1885 					     B)1886  	
	 C)1887 					     D)1888

129.	 è£ƒAóR¡ ºî™ ñ£ï£†®™ èô‰¶ ªè£‡ì HóFGFèO¡ â‡E‚¬è		

	 Ü. 72						     Ý. 78		

	 Þ. 50						     ß. 26

	  ------- delegates participated in the first Congress conference
	 A) 72 						     B)78  	
	 C)50 						      D)26

130. 	 õ†ì£ó ªñ£N ðˆFK‚¬è ê†ì‹ âŠ«ð£¶ ªè£‡´ õóŠð†ì¶

	 Ü. 1978					     Ý. 1878	

	 Þ. 1788					     ß. 1885

	 In which year vernacular press act introduced

	 A) 1978 					     B)1878  	

	 C)1788 					     D)1885
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131.	 Þ‰Fò£M™ Cø‰î ÞòŸ¬è ¶¬øºè‹

	 (Ü) ªê¡¬ù				    (Ý) ð£óbŠ

	 (Þ) ñƒèÙ˜					    (ß)  º‹¬ð

	 The best natural port of India is

	 (a) Chennai					     (b) Paradip

	 (c) Mangalore					    (d) Mumbai	

132. 	 è£Cóƒè£ «îCò Ìƒè£ âîŸè£è Ýó‹H‚èŠð†ì¶?

	 (Ü) ¹Lè¬÷ ð£¶è£‚è			   (Ý) ò£¬ùè¬÷ ð£¶è£‚è

	 (Þ) è£‡ì£I¼èƒè¬÷ ð£¶è£‚è		  (ß)  ñ£¡è¬÷ ð£¶è£‚è

	 Kaziranga National Park is created to protect 

	 (a) Tiger					     (b Elephant

	 (c) Rhinoceros					    (d) Deer	

133.. 	 åˆ¶¬öò£¬ñ Þò‚èˆ¬î è£‰FT F¼‹ðŠ ªðŸÁ‚ ªè£‡ìî¡ è£óí‹

	 (Ü) è£‰F - Þ˜M¡ åŠð‰î‹

	 (Ý) ªê÷K - ªê÷ó£M™ ãŸð†ì ñ‚èœ õ¡º¬ø

	 (Þ) ÝƒAô ÜóC¡ âF˜Š¹

	 (ß)  bMóõ£FèO¡ âF˜Š¹

	  The non – cooperation movement was called off by Gandhi because

	 (a) of Gandhi – Irwin pact			   (b) of Mob – violence at Chauri Chaura

	 (c) the Government opposed it 			  (d) the extremists opposed it

134.	  ü‹º è£we˜ Þ‰Fò£¾ì¡ Þ¬í‰î Ý‡´

	 (Ü) A.H. 1942				    (Ý) A.H. 1948

	 (Þ) A.H. 1950				    (ß)  A.H. 1956

	 Jammu and Kashmir was acceded to India in the year

	 (a) 1942 A.D.					     (b) 1948 A.D.

	 (c) 1950 A.D.					     (d) 1956 A.D.

135. 	 Þ‰Fò£M¡ ºî™ °®ñè¡

	 (Ü) üù£FðF				    (Ý) ¶¬í üù£FðF

	 (Þ) Hóîñ ñ‰FK				    (ß) êð£ï£òè˜

 	 The first citizen of India is the

	 (a) President					     (b) Vice-President
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	 (c) Prime Minister				    (d) Speaker

136.	  è®ù à¬öŠHŸ° Hø° Þ‰Fò ÜóCòô¬ñŠð£ù¶

	 (Ü) 26 ®ê‹ð˜ 1949™ îò£ó£ù¶		  (Ý) 26 üùõK 1950™ îò£ó£ù¶

	 (Þ) 26 ïõ‹ð˜ 1949™ îò£ó£ù¶		  (ß)  30 ®ê‹ð˜ 1949™ îò£ó£ù¶

	 After great labour, the constitution was ready on 

	 (a) 26th December, 1949			   (b) 26th January, 1959

	 (c) 26th November, 1949			   (d) 30th November, 1949

137. 	 °®òó²ˆ î¬ôõK¡ ðîM‚è£ô‹

	 (Ü) 2 Ý‡´èœ				    (Ý) 4 Ý‡´èœ

	 (Þ) 6 Ý‡´èœ				    (ß)  5 Ý‡´èœ

	 The term of the office of the President is  

	 (a) 2 years					     (b) 4 years 

	 (c) 6 years					     (d) 5 years

	

138. 	 Þ‰Fò ð£ó£Àñ¡øˆF¡ W› Ü¬õ Þšõ£Á Ü¬ö‚èŠð´Aø¶.

	 (Ü) «ô£‚êð£				    (Ý) ó£xò êð£

	 (Þ) Üªê‹HO				    (ß)  «ñô¬õ

	 Lower house of the Indian Parliament is known as

	 (a) Lok Sabha					     (b) Rajya Sabha

	 (c) Assembly					     (d) Council

139. 	 ñ£GôˆF¡ «ñ™ º¬øf†´ cFñ¡ø‹

	 (Ü) ªêê¡v cFñ¡ø‹			   (Ý) à„êcFñ¡ø‹

	 (Þ) ñ£TvF«ó† cFñ¡ø‹			  (ß)  àò˜cFñ¡ø‹

	 The highest appeal court in a state is

	 (a) Session court				    (b) Supreme Court

	 (c) Magistrate court				    (d) High Court

140.	 ÜóCòô¬ñŠ¹ ê¬ðJ¡ Gó‰îó î¬ôõó£è Þ¼‰îõ˜ ò£˜?

	 (Ü) ì£‚ì˜ Þó£«ü‰Fó Hóê£ˆ		  (Ý) ì£‚ì˜ Ü‹«ðˆè£˜

	 (Þ) ð‡®† üõý˜ô£™ «ï¼		  (ß)  ñè£ˆñ£ è£‰F

 	 Who was the permanent chairman of the constituent assembly?

	 (a) Dr. Rajendra Prasad			   (b) Dr. Ambedkar

	 (c) Pandit Jawaharlal Nehru			   (d) Mahatma Gandhi
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141. 	 ê£˜Hò™ ªè£œ¬è (Theory of relativity) W«ö ªè£´‚èŠð†ì å¼ M…ë£Qò£™ 1905-™ 		
à¼õ£‚èŠð†ì¶ 

		  A) Ïî˜«ð£˜´					    B) î£‹ê¡ 

		  C) ç«ð£˜					     D) ä¡v¯¡ 

	 Theory of relativity was proposed by which one of the following scientists in the year 1905?

	 (a) Rutherford					    (b) Thomson

	 (c) Bohr					     (d) Einstein 

142. 	 c˜ ðQ‚è†®ò£è à¬ø»‹ «ð£¶

		  A) ªõŠð‹ à†èõóŠð´‹ 			   B) ªõŠð‹ ªõOJìŠð´‹ 

		  C) ªõŠðG¬ô àò¼‹ 			   D) ªõŠðG¬ô °¬ø»‹ 

	 When water solidifies to ice 

	 (a) heat is absorbed				    (b) heat is released

	 (c) temperature increases			   (d) temperature decreases

143. 	 ñQîù£™ à¼õ£‚èŠð†ì à«ô£è‹ â¶?

	 (Ü) Sc	 				    (Ý) Os

	 (Þ) Tc	 				    (ß)  Hg

	 Which is the first man made element?

	 (a) Sc						      (b) Os

	 (c) Tc						      (d) Hg

144.	 è¼‹¹ ê˜‚è¬ó¬ò °À‚«è£ú£è¾‹, çŠó‚«ì£ê£è¾‹ ñ£ŸÁ‹ ªï£F â¶?

	 (Ü) Þ¡õ˜ «ìv				    (Ý) ¬ê«ñv

	 (Þ) ¬ìòv «ìv				    (ß)  L«ðv

	 Which one of the following enzymes brings about the hydrolysis of cane sugar to glucose and fructose?

	 (a) ivertase					     (b) zymase

	 (c) diastase					     (d) lipase

145.	 Þóˆî«ê£¬è âî¡ °¬øõ£™ ãŸð´Aø¶?

	 (Ü) q«ñ£°«÷£H¡			   (Ý) WBC

	 (Þ) ßC«ù£çH™				    (ß)  Þ¬õ Ü¬ùˆ¶‹

		  Anemia is due to reduced content of

		  (a) haemoglobin				    (b) WBC

		  (c) eosinophil					     (d) all of these
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146.	 có£Ÿð°ˆîL™ â¶ °À‚«è£¬ú ñ†´‹ î¼‹?

	 (Ü) ²‚«ó£v					    (Ý) ó£ŠH«ù£v

	 (Þ) ñ£™«ì£v				    (ß)  è£ô‚«ì£v

		  Which gives only glucose on hydrolysis?

		  (a) Sucrose					     (b) Raffinose

		  (c) Maltose					     (d) Galactose

147.	 ªðQYLòˆF¡ ªð£¶Š ªðò˜?

	 (Ü) cô «ñ£™´				    (Ý) è¼Š¹ «ñ£™´

	 (Þ) vñ†´					    (ß)  óv´

		  Common name for Penicillium is

		  (a) Blue mould				    (b) Black mould

		  (c) Smut					     (d) Rust

148. 	 ªð¼‹ð£ô£ù ð¼Š¹ õ¬è î£õóƒèœ àœ÷ °´‹ð‹

		  A) Î«ð£˜Hò£R«ò				    B) «ð«ðR«ò 

		  C) Ýv®«óR«ò				    D) I»«úC«ò 

	 Many pulses are obtained from plants of the family

	 (a) Euphorbiaceae				    (b) Fabaceae

	 (c) Asteraceae					    (d) Musaceae

149.	  vªóŠ«ì£¬ñY¬ù è‡ìP‰îõ˜

		  A) õ£‚v«ñ¡ 				    B) ®Î‚è˜ 

		  C) ªñ‚A»K					     D) ðv‚«è£™ì˜ 

 	 Streptomycin was discovered by

	 (a) Waksman					     (b) Duggar

	 (c) McGuire					     (d) Buskholder

150. 	 “ªè™Š” â¡ð¶

		  A) CõŠ¹ Ý™è£ 				    B) côŠ ð²‹ Ý™è£ 

		  C) ð¿Š¹ Ý™è£				    D) Þ¬õ Ü¬ùˆ¶‹ 

	 Kelp is

	 (a) red algae					     (b) brown algae

	 (c) blue-green algae				    (d) all of these
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page/ question is not missing/ not printed/ torn/ repeated.   In case, you find any defect anywhere in the Question Booklet, immediately informthe inviglator and 
get it replaced by him.  Warning Bell will ring at ---- and the last long bell will ring  at ----

11. 	 «î˜¾ â‡ OMR M¬ìˆî£œ â‡, Mù£ˆªî£°Š¹ â‡, «î˜¾ ªêŒî ªñ£N 1& ¡ °Pf´, ªðò˜ ñŸÁ‹ ¬èªò£Šð‹  «ð£¡ø¬õè¬÷ ÜîŸªèù 
Mù£ˆªî£°Š¹ ñŸÁ‹ OMR î£O™ îóŠð†´œ÷ ÞìˆF™ GóŠð «õ‡´‹. 

	 Write your Roll No. OMR Snser Sheeto No.,Question Booklet Series Code., Name and put your Signature. Option mad under Language -I and Option for Subject 
in the space provided in the Question Booklet as well as in the OMR Answer Sheet.

12.	 åšªõ£¼ Mù£M½‹  A,B,C & D  â¡ø °PJìŠð†´œ÷ ï£¡° M¬ìèœ îóŠð†´œ÷ù.  åšªõ£¼ Mù£¬õ»‹ èõùñ£è ð®ˆ¶, àƒèÀ‚° 
êKò£ù¶ âù è¼¶‹ M¬ìJ¬ù «î˜‰ªî´‚è¾‹.   OMR   M¬ìˆî£O™ ÜšMù£MŸªèù îóŠð†´œ÷ ÞìˆF™ êKò£ù õ†ìˆ¬î GöL´õî¡ 
Íô‹ àƒè÷¶ M¬ì¬ò °PŠHì¾‹.  GöL´õîŸªèù côGø / è¼¬ñGø ð‰¶º¬ùŠ «ðù£¬õ ñ†´«ñ ðò¡ð´ˆî «õ‡´‹.

	 With each question you willl find 4 possible answers marked by the letters A,B,C & D Read each question carefully and find out which answer, according to you 
is correct.  Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding to the question.  For marking answers 
us blue / Black ballpoint pen only.

13. 	 OMR M¬ìˆî£œ Ýù¶ èEQ Íô‹ ñFŠd´ ªêŒòŠð´‹ ð® õ®õ¬ñ‚èŠð†´œ÷¶.  «ñŸÃPò °PŠ¹è¬÷ è¬ìH®‚è£M®™ èEQÍô‹ 
ñFŠd´ ªêŒõ¶ Þòô£îî£AM´‹.  Þîù£™ M‡íŠðî£ó˜èÀ‚° ãŸð´‹  ÞöŠ¹èÀ‚° M‡íŠðî£ó«ó ªð£ÁŠð£õ£˜. 

	 OMR Answer Sheet is desingned for computer evaluation.  If you do not follow the instructions give above and shown in the OMR Answer Sheet.  It may make 
evaluation by computer diifficult.  Any resultant loss to the condiate on the above accounts shall be of the candiate only.

14.	 ÞÁF ñE åLŠðîŸ° º¡ â‰î å¼ M‡íŠðî£ó¼‹ «î˜¾ Ü¬ø¬ò M†´ ªõO«òø‚Ãì£¶.  «î˜¾ Ü¬ø¬ò M†´„ ªê™½‹ º¡¹   
M¬ìˆî£¬÷ Ü¬ø‚ è‡è£EŠð£÷Kì‹ êñ˜ŠH‚è «õ‡´‹.  Mù£ˆªî£°ŠH¬ù M‡íŠðî£ó«ó â´ˆ¶ ªê™ôô£‹.

	 No candiate should leave the Examination Hall before the final bell.  The OMR  Answer Sheet be handed over to the Invigilator beofore leaving the Examination 
Hall.  The candiate is allowed to take  the Question Booklet with him/ her.

15. 	 îõø£è Ì˜ˆF ªêŒòŠð´‹ / ªêŒòŠðì£ñ™ àœ÷  OMR M¬ìˆî£œèÀ‚° ñFŠªð‡èœ °¬ø‚èŠð´‹.
	 Marks will be deducted if the OMR is filled up wrongly / unfilled.

°PŠ¹èœ / INSTRUCTIONS 
(èõùñ£è ð®ˆ¶ Üî¡ð® ïì‚è¾‹ / Read carefully and comply)

º‚Aò °PŠ¹èœ / IMPORTANT
1 	 ð°F II ™ ( ªñ£N 1) M‡íŠðî£ó˜ Þ¬íòˆF™ M‡íŠðˆ¬î Ì˜ˆF ªêŒò «ï˜‰ªî´ˆî ªñ£N 1 ¡ Mù£‚è¬÷ M¬ìòO‚è «õ‡´‹.
	 In part II (Language I) a candidate has to attempt the questions of the language which the candidate has selected as language I in the Application Form.
2.	 OMR  M¬ìˆî£O™, Mù£îªî£°Š¹ õK¬ê â‡¬í ÜîŸªèù îóŠð†´œ÷ ÞìˆF™ M‡íŠðî£ó«ó êKò£è GóŠð «õ‡´‹. 
	 The candiate mujst ensure that the Qustion Booklet Series code has been filled  correctly at the prescribed places in the OMR  Answer Sheet.
3. 	 M‡íŠðî£ó˜ M‡íŠðˆF™ «î˜‰ªî´ˆîõ£Á ð°F &  IV  ( HK¾ A ) èEî‹ ñŸÁ‹ ÜPMò™ Ü™ô¶ ð°F  IV  (HK¾& B)êÍèMò™ 

ð°F‚° M¬ìòO‚è «õ‡´‹. M‡íŠðˆF™ «î˜‰ªî´ˆîõ£Á ªñ£N ñŸÁ‹ ð£ìŠð°F Mù£‚èÀ‚°  ã«îÂ‹ å¼ M‡íŠðî£ó˜ 
M¬ìòO‚è îõPù£™, Þ¶ îõø£è‚ è¼îŠð´‹  «ñ½‹  ÞˆîõPŸ° M‡íŠðî£ó«ó ªð£ÁŠð£õ£˜. 

	 The candiate has to answer that subject in Part - IV ( Section A) Mathematics and  Science or part - IV ( Section B ) Social  studies as selected by him/  her  in the 
Application Form.  If a candiate answers the questions of the language or subject other than selected in the Application Form, the  candiate  shall be  personally 
responsible for it and it would be treated as wrong.

êKò£ù º¬ø :
Correct method:

îõø£ù º¬ø :
Wrong method:

Correct Correct Correct Correct Correct
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